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Fifth Semester B.E. Degree Examin:a.tf , July/August 2021
Artificial lntetffience 
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a. Explain Inheritable knowledge. r1'": : (06 Marks)

b.- Consider following peqfences:-\"
r.=:qYf) John likes a[-lq#{,;bf food.t. D John likes all'trffi,bf food. ,,i,"*""(ii) 

Apple and Cliteffen are food. j1:*
(iii) Anything anyone eats and is notkilled by is food.(rrr) Anythmgqpyone eats and t?ng'tx"l

(iv) Bill eat$ &nuts and is stillkffi.
(") Sue eat'd,,eVerything bill eats.

Using resolution prove tt ffigot" likes Peanuts". (10 Marks)

c. Write a note on Matching*),*, (04 Marks)
*q;;I

a. Explain logics f*f#pn-tutonotonic reasoning. (06 Marks)

b. What is Bayesi:{4Network? Explain semantics of it. (08 Marks)

c. Explain slot as'fufl-fledged objects. (061\Iarks)
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Explain implementation of Breadth-first search' .* ** #
St't. nuyr;s theorem. How it is used in statisticalffidhin,?
Write a note on Semantic Nets. qm *

fu***
Explain Conceptual dependency. ffi$ 

*
What is global ontology? Explain. ee." d"

Write about iterative deepening. ,'% -B*. :is'
#q" 
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Explain CYC and its motivatiofrs*

nxptain Min Max searchg4ptdure. &r;os*a* *"""
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